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1. XpxfH|

AHEZIE/0| S A @101.6 x 700 x 2t ea 140,000 [£7pH & 20214 058 271p

AHEEIE/0| S Al @101.6 x 900 x 2t ea 146,000 |2714 20214 058 271p

AHEZEIE/0| S Al @101.6 x 1100 x 2t ea 156,000 [£7pH & 20214 058 271p

AHEEIE/0| S Al @101.6 x 1200 x 2t ea 162,000 |27H4E 20214 058 271p
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1. XFjH|
AHZIE/0|SAl @101.6 x 700 x 2t 140,000 140,000 |£7p8 & 20214 058 271p

[2& A1 140,000 - 140,000
2. TAHH|
Edols ol 179,203 27,561 27,561
2EQF ol 141,096 10,850 10,850

[& A1 - 38,412 38,412
3.71A41%
STHEE 5 1,921 1,921
SR L] 2 2,800 2,800

[& A1 4,721 - 4,721

=S A A 144,721 38,412 183,132
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1. XFjH|
AHZIE/0|SAl @101.6 x 900 x 2t 146,000 146,000 |27p8E 20214 058 271p

[2& A1 146,000 - 146,000
2. TAHH|
Edols ol 179,203 27,561 27,561
2EQF ol 141,096 10,850 10,850

[& A1 - 38,412 38,412
3.71A41%
STHEE 5 1,921 1,921
SR L] 2 2,920 2,920

[& A 4,841 - 4,841

=S A A 150,841 38,412 189,252
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1. XFjH|
AHZIE/0|SAl @101.6 x 1100 x 2t 156,000 156,000 |27h8E 2021 058 271p
[& A1 156,000 - 156,000
2. TAHH|
Edols ol 179,203 27,561 27,561
2EQF ol 141,096 10,850 10,850
[& A1 - 38,412 38,412
3.71A41%
STHEE 5 1,921 1,921
SR L] 2 3,120 3,120
[& A1 5,041 - 5,041
=S A A 161,041 38,412 199,452
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1. XFjH|
AHEBIE/0|SA] @101.6 x 1200 x 2t 162,000 162,000 |27p8E 20214 058 271p

[& A1 162,000 - 162,000
2. TAHH|
Edols ol 179,203 27,561 27,561
2EQF ol 141,096 10,850 10,850

[& A1 - 38,412 38,412
3.71A41%
STHEE 5 1,921 1,921
S NSV 2 3,240 3,240

[& A1 5,161 - 5,161

=ZAHH| A 167,161 38,412 205,572




